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�� ��� ������ �x ���� f ��� q ����� ��������������� ����� ��� ∇f ��� ∇q ���
�� ��������� ��� ��� ������������������ ��� f �� ��� ������ �x0 = (π
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�
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����� ��� ���� ������� ��� �������� ��� ��� �������� ��� ���������������� ���
��� �f ������������ ���� ���� �� ��� F : R2 → R ��� �f = ∇F� ��������� ��� ���� ��������
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�f d�x� j = 1, 2� ���

�f =


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zexz − 2x cos(x2 + y2)

e−y2 − 2y cos(x2 + y2)
xexz


 ��� K1 : �x(t) =




cos t
sin t

cos(2t)


 , 0 ≤ t ≤ 2π ,

����� K2 : �x(t) =


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cos(2πt)
sin(2πt)

log(1 + 3t)


 , 0 ≤ t ≤ 1 .
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��� M ⊆ Rn ����� ��� �f : M → Rn� �x �→ (f1(�x), . . . , fn(�x))
T ��������� ���

div �f = ∇ · �f =
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��� �������� ��� n = 3 rot �f = ∇× �f =
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��������� ��� ��� �������� div �f � rot�f � gradV � div gradV ��� rot gradV ���

�f(x, y, z) =




x+ y
x− z cos z
x sin(yz)


 ��� V (x, y, z) =

1�
x2 + y2 + z2
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